LakeCounty Division of Transportation	n					
	S	ummary of Bids Rece	eived			
Proje	ect: Various Culvert Replaceme	nts				
	on: 18-00999-58-DR					
•	on: Culvert Replacement					
	Pin: B-01371A					
Let Da	ate: 6/15/2021					
		01. Q. I. T			% Over/Under	\$ Over/Under
Bidder Lake County Grading Company	Address 32901 N. IL Rte 21	City, State, Zip Libertyville, IL 60048	Bond Bid Bond	Bid Price \$318,536.25	Eng. Estimate -43.62%	Eng. Estimate -\$246,437.75
Berger Excavating Contractors	1205 Garland Road	Wauconda, IL 60084	Bid Bond	\$349,165.11		-\$240,437.73 -\$215,808.89
Campanella & Sons, Inc.	39207 N Magnetics Blvd	Wadsworth, IL 60083	Bid Bond	\$355,912.99		-\$209,061.01
Acura Inc.	556 County Line Rd	Bensenville, IL 60106	Bid Bond	\$379,968.00		-\$185,006.00
Copenhaver Construction	75 Koppie Dr.	Gilberts, IL 60136	Bid Bond	\$425,676.00	-24.66%	-\$139,298.00
Engineer's Estimate				\$564,974.00		
Design	IDOT(2)	Contract Bidder		County Engineer		
Finance	Bid Tab File	Resident Eng.	N	/lgr Capital Progra	ımming	
Construction	Project File	Request By Mail				



Return Bid Tabulation

Project: Various Culvert Replacements

Section: 18-00999-58-DR

Description: Culvert Replacement

CPMS Pin: B-01371A

Let Date: 6/15/2021

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Berger Excavati	ng Contractors	Campanella & Sons, Inc.		Lake County Grading Company		Copenhaver Construction		Acura Inc.	
No.	.,				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price Extnd. Price		Unit Price	Extnd. Price	Unit Price	Extnd. Price
1		TREE REMOVAL (6 TO 15 UNITS DIAMETER)	143.0	UNIT	\$30.00	\$4,290.00	\$35.00	\$5,005.00	\$22.00	\$3,146.00	\$30.00	\$4,290.00	\$30.00	\$4,290.00	\$45.00	\$6,435.00
2	20200100	EARTH EXCAVATION	59.0	CU YD	\$100.00	\$5,900.00	\$65.00	\$3,835.00	\$72.72	\$4,290.48	\$0.01	\$0.59	\$50.00	\$2,950.00	\$25.00	\$1,475.00
3	20800150	TRENCH BACKFILL	460.0	CU YD	\$50.00	\$23,000.00	\$38.00	\$17,480.00	\$66.50	\$30,590.00	\$40.00	\$18,400.00	\$30.00	\$13,800.00	\$45.00	\$20,700.00
4	21101615	TOPSOIL FURNISH AND PLACE, 4"	1,064.0	SQ YD	\$10.00	\$10,640.00	\$5.85	\$6,224.40	\$4.40	\$4,681.60	\$0.10	\$106.40	\$4.00	\$4,256.00	\$5.00	\$5,320.00
5	25000400	NITROGEN FERTILIZER NUTRIENT	4.0	POUND	\$5.00	\$20.00	\$5.00	\$20.00	\$5.50	\$22.00	\$1.00	\$4.00	\$1.00	\$4.00	\$5.00	\$20.00
6	25000600	POTASSIUM FERTILIZER NUTRIENT	4.0	POUND	\$5.00	\$20.00	\$5.00	\$20.00	\$5.50	\$22.00	\$1.00	\$4.00	\$1.00	\$4.00	\$5.00	\$20.00
7	25100630	EROSION CONTROL BLANKET	1,064.0	SQ YD	\$5.00	\$5,320.00	\$1.15	\$1,223.60	\$1.25	\$1,330.00	\$3.00	\$3,192.00	\$2.00	\$2,128.00	\$2.50	\$2,660.00
8	28000400	PERIMETER EROSION BARRIER	403.0	FOOT	\$5.00	\$2,015.00	\$4.00	\$1,612.00	\$6.77	\$2,728.31	\$7.75	\$3,123.25	\$4.00	\$1,612.00	\$4.00	\$1,612.00
9	28100207	STONE RIPRAP, CLASS A4	52.0	TON	\$200.00	\$10,400.00	\$125.00	\$6,500.00	\$223.47	\$11,620.44	\$70.00	\$3,640.00	\$85.00	\$4,420.00	\$50.00	\$2,600.00
10	28200200	FILTER FABRIC	58.0	SQ YD	\$5.00	\$290.00	\$20.00	\$1,160.00	\$2.00	\$116.00	\$2.00	\$116.00	\$5.00	\$290.00	\$5.00	\$290.00
11	40604062 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70		24.0	TON	\$200.00	\$4,800.00	\$185.00	\$4,440.00	\$203.50	\$4,884.00	\$365.00	\$8,760.00	\$400.00	\$9,600.00	\$250.00	\$6,000.00
12	40800029	BITUMINOUS MATERIALS (TACK COAT)	46.0	POUND	\$10.00	\$460.00	\$0.01	\$0.46	\$0.01	\$0.46	\$0.01	\$0.46	\$5.00	\$230.00	\$5.00	\$230.00
13	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	59.0	SQ YD	\$150.00	\$8,850.00	\$179.00	\$10,561.00	\$174.00	\$10,266.00	\$143.00	\$8,437.00	\$82.00	\$4,838.00	\$75.00	\$4,425.00
14	44201759	CLASS D PATCHES, TYPE IV, 9 INCH	86.0	SQ YD	\$175.00	\$15,050.00	\$179.00	\$15,394.00	\$176.00	\$15,136.00	\$161.00	\$13,846.00	\$90.00	\$7,740.00	\$90.00	\$7,740.00
15	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	43.0	SQ YD	\$200.00	\$8,600.00	\$240.00	\$10,320.00	\$235.00	\$10,105.00	\$179.00	\$7,697.00	\$105.00	\$4,515.00	\$100.00	\$4,300.00
16	48101200	AGGREGATE SHOULDERS, TYPE B	19.0	TON	\$200.00	\$3,800.00	\$67.00	\$1,273.00	\$94.64	\$1,798.16	\$50.00	\$950.00	\$100.00	\$1,900.00	\$50.00	\$950.00
17	50102700	MASONRY REMOVAL	17.0	CU YD	\$200.00	\$3,400.00	\$75.00	\$1,275.00	\$75.00	\$1,275.00	\$50.00	\$850.00	\$100.00	\$1,700.00	\$75.00	\$1,275.00
18	50105220	PIPE CULVERT REMOVAL	323.0	FOOT	\$50.00	\$16,150.00	\$40.50	\$13,081.50	\$29.57	\$9,551.11	\$10.00	\$3,230.00	\$65.00	\$20,995.00	\$25.00	\$8,075.00
19	542A1111	PIPE CULVERTS, CLASS A, TYPE 2 66"	81.0	FOOT	\$500.00	\$40,500.00	\$345.00	\$27,945.00	\$442.88	\$35,873.28	\$280.00	\$22,680.00	\$490.00	\$39,690.00	\$405.00	\$32,805.00
20	550A0090	STORM SEWERS, CLASS A, TYPE 1 18"	83.0	FOOT	\$50.00	\$4,150.00	\$51.00	\$4,233.00	\$72.34	\$6,004.22	\$80.00	\$6,640.00	\$130.00	\$10,790.00	\$105.00	\$8,715.00
21	550A0470	STORM SEWERS, CLASS A, TYPE 2 42"	79.0	FOOT	\$200.00	\$15,800.00	\$180.00	\$14,220.00	\$225.83	\$17,840.57	\$155.00	\$12,245.00	\$185.00	\$14,615.00	\$315.00	\$24,885.00
22	550A0480	STORM SEWERS, CLASS A, TYPE 2 48"	25.0	FOOT	\$250.00	\$6,250.00	\$160.00	\$4,000.00	\$248.51	\$6,212.75	\$187.00	\$4,675.00	\$370.00	\$9,250.00	\$350.00	\$8,750.00
23		STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 36"	67.0	FOOT	\$200.00	\$13,400.00	\$154.00	\$10,318.00	\$254.18	\$17,030.06	\$244.00	\$16,348.00	\$240.00	\$16,080.00	\$275.00	\$18,425.00
24	55100900	STORM SEWER REMOVAL 18"	100.0	FOOT	\$20.00	\$2,000.00	\$16.00	\$1,600.00	\$20.65	\$2,065.00	\$5.00	\$500.00	\$20.00	\$2,000.00	\$30.00	\$3,000.00
25		MANHOLES, TYPE A, 5'-DIAMETER, TYPE 8 GRATE	1.0	EACH	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$3,980.90	\$3,980.90	\$3,200.00	\$3,200.00	\$3,500.00	\$3,500.00	\$6,800.00	\$6,800.00
26	60500040	REMOVING MANHOLES	2.0	EACH	\$500.00	\$1,000.00	\$475.00	\$950.00	\$350.00	\$700.00	\$250.00	\$500.00	\$600.00	\$1,200.00	\$900.00	\$1,800.00
27	60500050	REMOVING CATCH BASINS	1.0	EACH	\$500.00	\$500.00	\$490.00	\$490.00	\$350.00	\$350.00	\$250.00	\$250.00	\$500.00	\$500.00	\$750.00	\$750.00
28	66500105 WOVEN WIRE FENCE, 4'		100.0	FOOT	\$25.00	\$2,500.00	\$75.00	\$7,500.00	\$55.00	\$5,500.00	\$10.00	\$1,000.00	\$40.00	\$4,000.00	\$50.00	\$5,000.00



Return Bid Tabulation

Project: Various Culvert Replacements

Section: 18-00999-58-DR

Description: Culvert Replacement

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Berger Excavati	ng Contractors	Campanella 8	& Sons, Inc.	Lake Coun Com	, ,	Copenhaver	Construction	Acura	ı Inc.
No.	,	·			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
29	67100100 MOBILIZATION		1.0	L SUM	\$26,000.00	\$26,000.00	\$14,500.00	\$14,500.00	\$10,200.00	\$10,200.00	\$27,000.00	\$27,000.00	\$24,100.00	\$24,100.00	\$22,798.00	\$22,798.00
30	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	1,200.0	FOOT	\$2.00	\$2,400.00	\$3.00	\$3,600.00	\$0.01	\$12.00	\$0.01	\$12.00	\$1.30	\$1,560.00	\$1.00	\$1,200.00
31	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$500.00	\$2,500.00	\$250.00	\$1,250.00	\$1.00	\$5.00	\$0.01	\$0.05	\$50.00	\$250.00	\$500.00	\$2,500.00
32	LC200451	SEEDING, SPECIAL I	2,037.0	SQ FT	\$1.00	\$2,037.00	\$0.20	\$407.40	\$0.25	\$509.25	\$0.64	\$1,303.68	\$0.40	\$814.80	\$0.20	\$407.40
33	LC200452	SEEDING, SPECIAL II	1,407.0	SQ FT	\$1.00	\$1,407.00	\$0.75	\$1,055.25	\$1.00	\$1,407.00	\$0.64	\$900.48	\$0.40	\$562.80	\$0.20	\$281.40
34	LC200453	SEEDING, SPECIAL III	6,126.0	SQ FT	\$1.00	\$6,126.00	\$0.75	\$4,594.50	\$1.00	\$6,126.00	\$0.64	\$3,920.64	\$0.40	\$2,450.40	\$0.20	\$1,225.20
35	LC200501 MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS		3,929.0	UNIT	\$1.00	\$3,929.00	\$1.00	\$3,929.00	\$1.00	\$3,929.00	\$1.00	\$3,929.00	\$1.00	\$3,929.00	\$1.00	\$3,929.00
36		GRATED CULVERT END SECTIONS, 48" DIAMETER	1.0	EACH	\$6,000.00	\$6,000.00	\$4,600.00	\$4,600.00	\$5,245.00	\$5,245.00	\$8,200.00	\$8,200.00	\$4,800.00	\$4,800.00	\$4,950.00	\$4,950.00
37		GRATED CULVERT END SECTIONS, 42" DIAMETER	1.0	EACH	\$5,000.00	\$5,000.00	\$4,100.00	\$4,100.00	\$4,825.00	\$4,825.00	\$8,000.00	\$8,000.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00
38		GRATED CULVERT END SECTIONS, 66" DIAMETER	2.0	EACH	\$10,000.00	\$20,000.00	\$8,800.00	\$17,600.00	\$8,880.00	\$17,760.00	\$12,500.00	\$25,000.00	\$11,000.00	\$22,000.00	\$10,500.00	\$21,000.00
39		DOUBLE FLUSH INLET BOX FOR MEDIAN, STANDARD 542546 (2' SUMP)	2.0	EACH	\$10,000.00	\$20,000.00	\$11,500.00	\$23,000.00	\$9,555.00	\$19,110.00	\$15,800.00	\$31,600.00	\$15,500.00	\$31,000.00	\$6,000.00	\$12,000.00
40	X0324079	EXISTING FIELD TILE REMOVAL	70.0	FOOT	\$10.00	\$700.00	\$12.00	\$840.00	\$11.72	\$820.40	\$0.01	\$0.70	\$5.00	\$350.00	\$15.00	\$1,050.00
41	X0426200	DEWATERING	1.0	L SUM	\$200,000.00	\$200,000.00	\$36,000.00	\$36,000.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00
42	X6022110	MANHOLES, TYPE A, 10'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$30,000.00	\$30,000.00	\$17,000.00	\$17,000.00	\$26,970.00	\$26,970.00	\$17,700.00	\$17,700.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
43		TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$18,000.00	\$18,000.00	\$36,500.00	\$36,500.00	\$35,860.00	\$35,860.00	\$32,600.00	\$32,600.00	\$64,000.00	\$64,000.00	\$45,000.00	\$45,000.00
44	Z0022800	FENCE REMOVAL	77.0	FOOT	\$10.00	\$770.00	\$4.00	\$308.00	\$5.00	\$385.00	\$5.00	\$385.00	\$6.00	\$462.00	\$10.00	\$770.00
45	Z0073510	TEMPORARY TRAFFIC SIGNAL TIMING	6.0	EACH	\$1,000.00	\$6,000.00	\$950.00	\$5,700.00	\$605.00	\$3,630.00	\$550.00	\$3,300.00	\$500.00	\$3,000.00	\$550.00	\$3,300.00
	Bid To					\$564,974.00		\$349,165.11		\$355,912.99		\$318,536.25		\$425,676.00		\$379,968.00



Project: Various Culvert Replacements

Section: 18-00999-58-DR

Description: Culvert Replacement

Item	Day Cada	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	143.0	UNIT	\$30.00	\$4,290.00	\$22.00	\$45.00	\$32.40
2	20200100	EARTH EXCAVATION	59.0	CU YD	\$100.00	\$5,900.00	\$0.01	\$72.72	\$42.55
3	20800150	TRENCH BACKFILL	460.0	CU YD	\$50.00	\$23,000.00	\$30.00	\$66.50	\$43.90
4	21101615	TOPSOIL FURNISH AND PLACE, 4"	1,064.0	SQ YD	\$10.00	\$10,640.00	\$0.10	\$5.85	\$3.87
5	25000400	NITROGEN FERTILIZER NUTRIENT	4.0	POUND	\$5.00	\$20.00	\$1.00	\$5.50	\$3.50
6	25000600	POTASSIUM FERTILIZER NUTRIENT	4.0	POUND	\$5.00	\$20.00	\$1.00	\$5.50	\$3.50
7	25100630	EROSION CONTROL BLANKET	1,064.0	SQ YD	\$5.00	\$5,320.00	\$1.15	\$3.00	\$1.98
8	28000400	PERIMETER EROSION BARRIER	403.0	FOOT	\$5.00	\$2,015.00	\$4.00	\$7.75	\$5.30
9	28100207	STONE RIPRAP, CLASS A4	52.0	TON	\$200.00	\$10,400.00	\$50.00	\$223.47	\$110.69
10	28200200	FILTER FABRIC	58.0	SQ YD	\$5.00	\$290.00	\$2.00	\$20.00	\$6.80
11	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	24.0	TON	\$200.00	\$4,800.00	\$185.00	\$400.00	\$280.70
12	40800029	BITUMINOUS MATERIALS (TACK COAT)	46.0	POUND	\$10.00	\$460.00	\$0.01	\$5.00	\$2.01
13	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	59.0	SQ YD	\$150.00	\$8,850.00	\$75.00	\$179.00	\$130.60
14	44201759	CLASS D PATCHES, TYPE IV, 9 INCH	86.0	SQ YD	\$175.00	\$15,050.00	\$90.00	\$179.00	\$139.20



Project: Various Culvert Replacements

Section: 18-00999-58-DR

Description: Culvert Replacement

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid	
No.	Pay Code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	Price	
15	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	43.0	SQ YD	\$200.00	\$8,600.00	\$100.00	\$240.00	\$171.80	
16	48101200	AGGREGATE SHOULDERS, TYPE B	19.0	TON	\$200.00	\$3,800.00	\$50.00	\$100.00	\$72.33	
17	50102700	MASONRY REMOVAL	17.0	CU YD	\$200.00	\$3,400.00	\$50.00	\$100.00	\$75.00	
18	50105220	PIPE CULVERT REMOVAL	323.0	FOOT	\$50.00	\$16,150.00	\$10.00	\$65.00	\$34.01	
19	542A1111	PIPE CULVERTS, CLASS A, TYPE 2 66"	81.0	FOOT	\$500.00	\$40,500.00	\$280.00	\$490.00	\$392.58	
20	550A0090	STORM SEWERS, CLASS A, TYPE 1 18"	83.0	FOOT	\$50.00	\$4,150.00	\$51.00	\$130.00	\$87.67	
21	550A0470	STORM SEWERS, CLASS A, TYPE 2 42"	79.0	FOOT	\$200.00	\$15,800.00	\$155.00	\$315.00	\$212.17	
22	550A0480	STORM SEWERS, CLASS A, TYPE 2 48"	25.0	FOOT	\$250.00	\$6,250.00	\$160.00	\$370.00	\$263.10	
23		STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 36"	67.0	FOOT	\$200.00	\$13,400.00	\$154.00	\$275.00	\$233.44	
24	55100900	STORM SEWER REMOVAL 18"	100.0	FOOT	\$20.00	\$2,000.00	\$5.00	\$30.00	\$18.33	
25	60221700	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 8 GRATE	1.0	EACH	\$5,000.00	\$5,000.00	\$3,200.00	\$6,800.00	\$4,196.18	
26	60500040	REMOVING MANHOLES	2.0	EACH	\$500.00	\$1,000.00	\$250.00	\$900.00	\$515.00	
27	60500050	REMOVING CATCH BASINS	1.0	EACH	\$500.00	\$500.00	\$250.00	\$750.00	\$468.00	
28	66500105	WOVEN WIRE FENCE, 4'	100.0	FOOT	\$25.00	\$2,500.00	\$10.00	\$75.00	\$46.00	
29	67100100	MOBILIZATION	1.0	L SUM	\$26,000.00	\$26,000.00	\$10,200.00	\$27,000.00	\$19,719.60	



Project: Various Culvert Replacements

Section: 18-00999-58-DR

Description: Culvert Replacement

Item	Day Cada	Description	Quantity	Unit	Eng Es	timate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
30	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	1,200.0	FOOT	\$2.00	\$2,400.00	\$0.01	\$3.00	\$1.06
31	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$500.00	\$2,500.00	\$0.01	\$500.00	\$160.20
32	LC200451	SEEDING, SPECIAL I	2,037.0	SQ FT	\$1.00	\$2,037.00	\$0.20	\$0.64	\$0.34
33	LC200452	SEEDING, SPECIAL II	1,407.0	SQ FT	\$1.00	\$1,407.00	\$0.20	\$1.00	\$0.60
34	LC200453	SEEDING, SPECIAL III	6,126.0	SQ FT	\$1.00	\$6,126.00	\$0.20	\$1.00	\$0.60
35	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,929.0	UNIT	\$1.00	\$3,929.00	\$1.00	\$1.00	\$1.00
36	LC500240	GRATED CULVERT END SECTIONS, 48" DIAMETER	1.0	EACH	\$6,000.00	\$6,000.00	\$4,600.00	\$8,200.00	\$5,559.00
37	LC500245	GRATED CULVERT END SECTIONS, 42" DIAMETER	1.0	EACH	\$5,000.00	\$5,000.00	\$4,100.00	\$8,000.00	\$5,185.00
38	LC500246	GRATED CULVERT END SECTIONS, 66" DIAMETER	2.0	EACH	\$10,000.00	\$20,000.00	\$8,800.00	\$12,500.00	\$10,336.00
39	LC600001	DOUBLE FLUSH INLET BOX FOR MEDIAN, STANDARD 542546 (2' SUMP)	2.0	EACH	\$10,000.00	\$20,000.00	\$6,000.00	\$15,800.00	\$11,671.00
40	X0324079	EXISTING FIELD TILE REMOVAL	70.0	FOOT	\$10.00	\$700.00	\$0.01	\$15.00	\$8.75
41	X0426200	DEWATERING	1.0	L SUM	\$200,000.00	\$200,000.00	\$10,000.00	\$50,000.00	\$29,600.00
42	X6022110	MANHOLES, TYPE A, 10'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$30,000.00	\$30,000.00	\$17,000.00	\$30,000.00	\$23,334.00



Project: Various Culvert Replacements

Section: 18-00999-58-DR

Description: Culvert Replacement

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description			Unit Price	Extnd. Price	Price	Price	Price
43	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$18,000.00	\$18,000.00	\$32,600.00	\$64,000.00	\$42,792.00
44	Z0022800	FENCE REMOVAL	77.0	FOOT	\$10.00	\$770.00	\$4.00	\$10.00	\$6.00
45	Z0073510	TEMPORARY TRAFFIC SIGNAL TIMING	6.0	EACH	\$1,000.00	\$6,000.00	\$500.00	\$950.00	\$631.00
		Bid Total				\$564,974.00			